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1 The mountain would break by the miracle of
A. Hazrat Yaqoob(AS)
B. Hazrat Yousaf(AS)
C. Hazrat Ishaq(AS)
D. Hazrat Yahya(AS)

2 Hazrat Yousaf (AS) was the son of:
A. Hazrat Ishaq(AS)
B. Hazrat Ismael(AS)
C. Hazrat Yaqoob(AS)
D. None of the above

3 The Following Prophet suffered from blindness in his old age:
A. Hazrat Yunas(AS)
B. Hazrat Ishaq(AS)
C. Hazrat Ismael(AS)
D. Hazrat Yaqoob(AS)

4 Israel was _______ years old when Hazrat Ishaq (AS) died.
A. 50
B. 100
C. 120
D. 147

5 Israel was the son of :
A. Hazrat Loot(AS)
B. Hazrat Ismael(AS)
C. Hazrat Ishaq(AS)
D. Hazrat Yousaf(AS)


